RESOINVE PLAY (< edsbyn

ASSEMBLY INSTRUCTION

2x PSH M6x40

6x PSH M8x80
6x M6M M8

6x MC6S M8x35

o7
6x SRKB 9x28

2x PSH M6x40

8x PSH M8x80

8x M6M M8
8x SRKB 9x28
6x MC6S M8x35




Monteringsanvisning




